Area. of Shapes

€\

s REVISE THIS
I T

1
6 cm Not drawn
accurately
10 cm
Work out the area of the rectangle giving the units of your answer. [2 marks]
Answer 60 Cm
2
Not drawn
3m accurately
8 m
Work out the area of the triangle giving the units of your answer. [3 marks]

s x ¥ x3

L
Answer ‘ ,)-. m
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A rectangle is drawn on a centimetre grid.
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[1 mark]

Work out the area of the rectangle.

cm?

24

Answer
A triangle is drawn on a centimetre grid.

3 (b)
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[1 mark]

Work out the area of the triangle.

cm?

Answer

© 2024 1stclassmaths

www. 1stclassmaths.com



http://www.1stclassmaths.com/

° r@ @1stclassmaths :

4 The rectangle has a base of 5 cm and a height of h cm.

h cm Not drawn
accurately

5cm

The area of the rectangle is 40 cm?
Work out the value of h. [1 mark]

ko< 9
. ¥ o

Not drawn
accurately

Work out the area of the triangle. [2 marks]

7 x 6 x Y

Answer ‘ 2— cm?2

Turn over »
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[1 mark]

On the centimetre grid below, draw a rectangle with an area of 18 cm?

° @ @1stclassmaths
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7
|
|
4 cm 5cm Not drawn
1 accurately
1
9cm
Work out the area of the parallelogram. [2 marks]
Answer 3 6 cm?
8 8cm
|
|
i 5cm Not drawn
‘ accurately
1
10 cm
Work out the area of the trapezium [2 marks]

%(%+10) x S
= 5 (18) xS
= Ax S

Answer l'\' S cm?2

Turn over »
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9 Here is a square, triangle and parallelogram.

Square Triangle Parallelogram

Not drawn
accurately

6 cm ‘
chm
i

/

5cm 8cm 10 cm

Put the shapes in order of area, starting with the smallest.

Siuara S %5 :2Sunt
Tm'nr\a\a l/'L X 6= Weum®
?ﬁfﬂudoamm lox 2 = Jocmt

Smallest area TT\' av\é\'ea

S al,uo.vl‘e
Largest area P&rau d Da PU.M/\_

www. 1stclassmaths.com © 2024 1stclassmaths
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10 A triangle has a base of 4 cm and a perpendicular height of h cm.
Not drawn
hem accurately
4 cm

The area of the triangle is 20 cm?
Work out the value of h. [2 marks]

axl x W =720
2h =0
W= (0

cm
11
11cm

1

1 Not drawn

14 cm

! accurately

7cm
Work out the area of the trapezium [2 marks]

AT
= Y (13)xY
- Ax Y

Answer ’S Q) cm?

Turn over »
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A parallelogram is drawn on a centimetre grid.

12 (a)
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[1 mark]

Work out the area of the parallelogram.

cm?

Answer

A trapezium is drawn on a centimetre grid.

12 (b)

et e
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[2 marks]

Work out the area of the trapezium

cm?

5

|

Answer
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13
8cm
6cm Not drawn
accurately
10 cm
Work out the area of the triangle. [2 marks]
|
Y2 x&x b
Answer l"" cm?
14

250 cm Not drawn

( accurately
2:Sm

3m

Work out the area of the rectangle.
Give your answer in square metres. [2 marks]

LS %

Answer J 5 m?2

Turn over »
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15 Here is a rectangle and a triangle.
Not drawn
accurately
h cm
4 cm
10 cm 7cm
The area of the rectangle is 3 times the area of the triangle.
Work out h, the height of the rectangle. [4 marks]

Aru» oif U‘iav\s\ﬂ_ - ‘/7, x 3 xLl'
~ lLeowa®
Ux W= Glom®
42210 = &L

.- G- L o

16 A square has side length 3.2 cm
Work out the area of the square, giving your answer in square centimetres.

1.91% 3.1 3, @
27

G Y
460

to 1Y%

\

Answer I 0 fLL\‘ cm?2
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11
The line AB is one side of a trapezium ABCD which has an area of 21cm?

The line AB has been drawn on the centimetre grid below.

° r@ @1stclassmaths
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19 A rectangle has a base of 30 cm and a height of h cm.

Not drawn

hem accurately

30 cm

The area of the rectangle is 15 cm?
Work out the value of h. [1 mark]

IS+%0 =05

h= OS

cm
20 Here is a parallelogram and a trapezium
Not drawn
accurately
|
i h cm / 17 cm 13 cm
1
9.6 cm

The area of the parallelogram one fifth of the area of the trapezium
Work out h, the perpendicular height of the parallelogram. [4 marks]

Y2123+ 13) x § \20 =S = U4
= ¥ (30)x 8
- ISx @ A= 9q.6= 1S
= \20um*

Answer 2 ) S cm
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21 Five congruent rectangles are joined to make rectangle ABCD.
A \O 1S C
7—' S { Not drawn
accurately
10 cm
B D
Work out the area of rectangle ABCD. [4 marks]

04=2-S
0+15 = \2S

12-S x 0 = |25

Answer l 2 S cm?

Turn over »
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22 Points A and B are shown on the centimetre grid below.
y
A
5
A> 4
3
) C
1
/ > X
5 @] 1 2 3
-1
-2
-3
-4
-5
C=(12
Work out the area of triangle ABC. [3 marks]
Y w2
1 X x Y
Answer \ L\- cm?
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23 A picture frame is made from four congruent trapeziums.

26 cm

Jem 20tk Um

Ocm Ocm Not drawn
2oun C photograph space?' 26cm accurately

20cm.

26cm

The width of the picture frame is 26 cm.
A square photograph will be placed in the photograph space.
The area of the photograph space is 400 cm?

Work out the area of one of the trapeziums that forms the picture frame. [4 marks]

™) = loum

L6- 0= 6
G+ 1:=7

by (L042o) X7
> Vo (%6)x 3
T 23 x3

Answer 6 Ct cm?

Turn over »
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24 ABC is a triangle.

C

Not drawn
accurately

Qom

ABD is a straight line.

AB =15cm

AD:DB=1:4

AD:AC=1:3

Work out the area of triangle BCD. [4 marks]
| + b+ = S AD AC
1S+ S =173 <3 ‘:3>x3
\ ¥ V= VJowm ’3:9

Lx 3= em AC-=-9om

2% \Lxq =S% ant

Answer S t cm?2
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